72. Inacertain code language :

73.

(I) ‘pitnasa’ means “you are welcome’

(I) ‘*naho pala’ means ‘they are very good’

([iT) ‘kada la’ means ‘who is good’

(IV) “od ho pit la" means *they welcome good people’

Decode ‘pa’

(A) Very (B) People (C) Welcome (D) Good

s FPiftua #i s # -

(1) ‘“pitnasa’ F 34 2 ‘youare welcome’

(II) ‘nahopala’ #1314 2 ‘they are very good’

(1) *kadala’ %1 % 8 ‘who is good’

(IV) “od ho pit Ia* %1 31 2 ‘they welcome good people’

fga1s ‘pa’

(A) Very (B) People (C) Welcome (D) Good

fe's fonfas a3 s few

(I) “pitnasa’ € %3y J ‘you are welcome’

(I) *naho pala’ & mgH I ‘they are very good’

(IlI) ‘kada la’ & w99 J ‘who is good’

(IV) “od ho pit la’ & »@g I ‘they welcome good people’

gids ‘pa’

(A) Very (B) People (C) Welcome (D) Good

In acertain code ‘lee rade’ means ‘what was it’; ‘mo nil’ means ‘you go'; ‘nil pom ra’ means ‘you like it’; and “tok
lee fo’ means ‘she was sick”. What is code for ‘what you like’ ?

(A) ‘nilralee’ (B) ‘pom nilra’ (C) ‘pomralee’ (D) ‘denil pom’

s Pf¥ad $13 # ‘leerade’ 1 39 3 ‘what was it”; ‘mo nil’ #1 #eed 2 ‘you go’; *nil pom ra’ #1 314 2 ‘you
like it’; 31T “tok lee fo' F1 % 8 ‘she was sick’ | *what you like’ % R g sur 2 7

(A) ‘nilralee’ (B) ‘pomnilra’ (C) ‘pomralee’ (D) ‘denil pom’

fe'a forfes a3 29 ‘leerade’ @ »eE J *what was it’; *mo nil® ¥ »J® T ‘you go’; *nil pom ra’ =" wieg 3
‘you like it’; »i3 ‘tok lee fo’ &7 ni@" T “she was sick’ | “what you like’ &=t & ot J2ar 7

(A) ‘nilralee’ (B) ‘pomnilra’ (C) ‘pomra lee’ (D) ‘denil pom’
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74. Identify the synonym of * VINDICATE:

(A) Indicate (B) Justify (C) Colour (D) Storm
‘VINDICATE' & war=mdl g #t wgar &< :
(A) Indicate (B) Justify (C) Colour (D) Storm
‘VINDICATE' ¥ AHGTER USTE :
(A) Indicate (B) Justify (C) Colour (D) Storm

75. Antonym of ‘DEVELOPMENT" is:
(A) Retardation (B) Retrogression (C) Transgression (D) Progression
‘DEVELOPMENT’ #! Rudiads vz 2 .
(A) Retardation (B) Retrogression (C) Transgression (D) Progression
‘DEVELOPMENT’ ®r feudtawesx maw 3
(A) Retardation (B) Retrogression (C) Transgression (D) Progression

Information for Q. Nos. 76 — 78

Five girls Madhu, Arti, Kanan, Rekha and Suman are married to Mahesh, Yogesh, Ravi, Mukesh and Gyan,
but not in the same order.

(I) First letters of the names of the couples are not the same,

(IT) Arti and Kanan are not married to Yogesh.

(I1I) Suman is not married to Mukesh.

(IV) Yogesh and Gyan are not Suman'’s or Madhu's husbands.

(V) Kanan’s and Rekha’s husbands’ names do not start with ‘M”,
weT HEar 76 —- 718 F o g

giw afRdl wy, smdl, wre, v s ga & faare wRw, dntw, IR, qdw e WA @ g 2, AfA

G i '

(I) SY F A & B e gy F4 ¥

) sl SR FET w1 Raw atw § A gd 2

(D) 539 § ga7 &1 fRaw 787 gsn 2

(V) @i T s gee W oAy & ofg Al F

(V) F T Yar & ofedl B Ay o e a8 o ¥
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YRS Sud 76 — 78 HE FrEFTSt :

U waaioit WY, wiredt, as, Jur i3 BHe @ fewra HIR, TaH, I, wam w3 famrs s dfenr 3, ue
8n gu €9 &dt)
(1) wfgnit 2 5 T ufod wive fea fd st 951
(1) w3t w3 T6s Gan &% forrd 98 &dt I51
(I1]) BHs wom &8 fonrdt a0t T
(IV) T w3 famrs AHa 7 1Y @ =t &d1 I51
(V) o5 W3 3w @ udhat @ &F 9 &8 ¥ 5dT 32
76. Who is Ravi’s wife 7 ,
(A) Madhu (B) Art (C) Kanan (D) Rekha

0 i weAr BT 7

(A) Ay (B) 3 (C) 4 (D) -Y@r

T T uE AT T ?

(A) W (B) nirast (C) a55 (D) Fur
77. WhoisArti'shusband ?

(A) Mahesh (B) Yogesh (C) Mukesh (D) Ravi

It ® ol BT T 7 |

(A) Tew (B) drira (©) FFW D)

wadt ey dE T ?

(A) HIH (B) wdH - (C) yam (D) ==t
78. ‘Which ofthe following statement is wrong ?

(A) Gyan is married to Kanan (B) Suman is not Mukesh’s wife

(C) Artiisnot Ravi’s wife (D) Rekha is not Yogesh’s wife

Preafofaa & @ #a1 S97 Tod & 7

(A) ST &1 faame F17 & g3 2 (B) HAT THW A TeAT AL B

(C) et W3 @t gl =78 2@ (D) Y@ dprer # ge T8 2

favatstuz f&9 faor gus ass 3 1

(A) fomis @ fenrg 66 &% Jfenr 3 (B) mHE HIF T uIA &t I

(C) wigst ot € uzaT adt I (D) U Gary = uar B F

79. On the basis of statements, four conclusions are given. Find true alternative among A, B,Cand D ;
Statements : All branches are flowers. All flowers are leaves.
Conclusions : (1) All branches are leaves.
¥ (2) Allleaves are branches,
(3) All flowers are branches.
(4) Some leaves are branches.
(A) None follows " (B) Only(1)and (4) follow
(C) Only(1)and (3) follow (D) Allfollow
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80.

oAl R 7z, =W freed fRu o 81 A, B, C X D & d @ Rwen 97 -
waa . gt e we # | gl e it #
frews (1)  ®fr wmard it £
(2) @ uivw wmemd # )
(3) aA g e ¥ |
(4) Ho uftal wmaEn §) _
(A) % o 7 (B) & (1) ST (4) F FTHA FL
(C) ®aa (1) AT (3) F FATHA FY (D) B F1 FHA L
famrat € w3, 99 A2 €3 o 951 A, B, C w2 D &9 Adt fesmu g8
fans . Ardbot Bt €% 95| A @8 U3 95|
fAer (1) wrdhot =t U2 T8
(2) 7o UI AR 5|
(3) W9 TS AT I5|
4) T Y3 Ayt TF|
(A) I &Gt (B) =B (1) »Z (4) T a9
(C) 3e& (1) nZ (3) TS a3 (D) A9 @B 9
Five statements are given. Find the option where third statement is a conclusion drawn from preceding two
statements :
(a) No patriotisacriminal.
(b) Ramdas isnotacriminal.
(c) Ramdas is apatriot.
(d) Mohandasisnota patriot.
(e) Mohandasisacriminal,
(A) (a)(b)(c) (B) (a)(c)(b) (C) (a)(b)(e) (D) (a)(d)(e)
T FuA By e £ | 38 R 42 W' dmw Fun fed @ wua & Freeen P 2
(a) ®1% TmeEa ey A8 2
(b) THEE ITah FE B
(c) THE TH S99 @ |
(d) WETEE ITEE A &)
(e) ArEATE T 21
(A) (a)(b)(c) (B) (a)(c)(b) (C) (a)(b)(e) (D) (a)(d)(e)
U s 82 a2 93 %&mwwmmwmmaﬁb@?mﬁwﬁ?%
(a) I AT wrEh FH P
(b) IHER wugdh &4t T
(¢c) IweEH fE' oFsa3 31

(d) ¥oweH SRS &9t T

. (e) HIEEH wuaTt I

(A) (a) (b)(c) (B) (a)(c)(b) (C) (a)(b)(e) (D) (a)(d)(e)
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81. Fourarguments follow the statement given below. Find the strong argument among the four :
Statement : “Should India goin for compﬁtéﬁzaﬁon inall possible sectors™
Arguments : (a) Yes,itwill bring efficiency and accuracy in the work.
(b) No, itwill be injustice to the monumental human resources which are at present under utilized.
(¢) No, it needs a lot of money. We should not waste money.

(d) Yes, when advanced countries are introducing computers in every field, how can India afford
to lag behind. -

(A) Only (a)is strong
(B) Only (a) and (b) are strong
(C) Only (a) and (c) are strong
(D) Only (b) and (d) are strong
maﬁﬁﬁmmmmmﬁﬂmm%w%dﬁwaﬁmﬁ-:
AT T ARG BN AT AT ¥ Frgedew § R s aifee
T : (a) B, UE FH N geral AT GwAT |
(b) 7€, uE fwra ArFE wEwA B @ IR B W adaE ¥ Igam § 2
(¢) =&, =0 wga wrw Tar wifRw) &% N wefe 48 w1 wiew
(d) ¥, 99 I=Ta 39 BT A F FUET I T @ L, A 9w A 0D @ wEw 2
(A) Fac (a) HogE 3 (B) #aw (a) 3T (b) Hogw &
(C) ®ad (a) T (c) 79T © (D) #ad (b) 3T (d) oy &
o9 399 5t feF fimrs & umE R 9m1 It fed HeES SO B9
femrs @ “oft grez § BY Hgw dset fe'w dfulediaes &t e ordter 3
39k : (a) dof, oo oy &9 gEE3T w3 Tardt fenrgar
(b) &, few fers waHlt eritfent a5 Bfewmat R4 # fger wY 'y = fe'w o5
(©) =, fem & 593 mrr d wdter 31w Aer weEe Bt w9Er g
() o, 7 @3 37 3¢ 5T fe'm duQeat & wgws & 9 T, 3 Ires R D af e B
(A) frem (a) HmEs 3 (B) fAez (a) w3 (b) HAg3 T6
(C) frsz (a) 3 (c) H7gs T5 (D) fiee (b) »3 (d) vAgs T3
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Information for Q. Nos. 82 -84 ;

The following Bar Chart shows the income of a business for five months for January to May. Answer the
questions that follow ;

THK

Jan

Feb

March

11000

April

TMEN

May

g w82 — 84 & forw =

Prefafag @ =1 999 @ 92 9% g 599 & foe uF ggaw iy sny fRger 8 1 B geEr & 3

%

14000
12000
100006

Jan

Feb

March

11000

April

13000

May

yms 389 82 — 84 HEt At :

forafafuz
e .

9 99 7aedl 3 HET 37 Un W18 Bt raEe @ winves § T8 3 s yrst € €39

14000
12000

March

11000

Aprd

13000

May
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82.

83,

84,

85.

Income in May is how many times of the income is Feb. ?

(A) 3.0 (B) 3.25 (C) 3.5 (D) 4.0

7 Sl A s Bt @ 7

(A) 3.0 (B) 3.25 (C) 3.5 (D) 4.0

HET &9 nmies goedt Somms e @R oz 3 7

(A) 3.0 (B) 3.25 (C) 3.5 (D) 4.0

The average income from Jan. to May is :

(A) Rs, 8,600 (B) Rs.8,700 . (C) Rs. 8,750 (D) Rs. 8,800
T @ HE o oftgg I #

(A) 8,600 &9Q (B) 8,700 ®4q (C) 8,750 w9T (D) 8,800 ®9Y
A&edt 3 HEY 3 WiHg nmies feo T

(A) 8,600 gug (B) 8,700 qug (C) 8,750 gug (D) 8,800 gu®
During which of the following month is the ratio of income to income of the previous month, the maximum ?
(A) February (B) March (C) April (D) May

Preafofea X & frg w8 ¥, Rod wd = o & s w1 S st v 7

(A) wEh (B) w (©) ‘3t (D) w3

forafefus 29 far 13 fe's fUed w13 & nines 3 winiEs & nisurg wiftesr 52 7

(A) Tedt (B) wew (C) s (D) wet

Find the cotrect observation among the four observations given on the given statement : -

Statement : “Horror movies make children fearless”

(A) Statement isa fact ' (B) Statement isan advice

(C) Statement is an opinion (D) Statement is a prejudice

R g e T RY TG AR e A qE sE

FoF : "sUaAt R a=a A P s 2

(A) 97 G o 2 B) #97 T GAE B (C) FAT W W E (D) F99 @i 2
&3 a2 fors 3 03 @ 9w nedxst feoxs AH wedas i3 &5

(A) fms g B Y (B) fivrs P mmw 3 (C) fiows R 9@ 3 (D) fionis et wanrs 3
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86. Three inferences follow the statement. Find the implicit inferences ;

Statement : “India proposes to tap non-conventional and renewable sources of energy as India now needs to
increase her energy production by more than ten times.”

(1) Indiadoes not have sufficient conventional resources of energy.
(2) Growing population and industrialization need a lot of energy.
(3) Indiahasthe non~con-ventional energy resources in abundance.
(A) (1)and(2)are implicit

(B) (1)and (3)are implicit

(C) (2)and (3) are implicit

(D) All(1),(2)and (3) are implicit

WA A FEA A FRa 8 | RS wpEm e s

FUF WG SO B T UIOTE T AT Bl B 2 FA BT UEAE FCT & FF 9IRG FTOAT 29
1A & sfte Fal e ¥ gfe w@ A www 20

(1) e ® ot &yl e aET 78§

(2) e smarer ST SMAET F g agg @l F9 A srawEE 20

(3) A ¥ wgawa ¥ R oXwma el oaeea € |

(A) (1) 3R (2) Pl & B) (1) I 3) ffew 2

(C) (2) X (3) Ffea & (D) &+t (1), (2) AT (3) Fifea @
35 nieHs fors & yser g9v 951 5fos wigws famrs a9 -

femis : “g7a8 3 Ganr ¥ du-uSuers i3 sfenmBeter rrust § 2U a9 € 3 IR ot o fagfy a9
& g= nmugt Genr 83ures § wH gE ¥ @ wuwgE & ggem 31

(1) zes &9 €aar € AHaE ukufes HRmas adt 75|

(2) U gt nrEEl wF Cetioiwas ®Er 5US G & &7 A

(3) 393 a® g3 W3T 9 Ig-uduwars GeFr AT T5|

(A) (1) »3 (2) fofos o6 ' B) (1) m3 (3) fafoz 75

(C) (2) m2 (3) fofuz o& D) 73 (1), 2) W3 (3) fafoz o5
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Information for Q. Nos. 87 -90:
Six children A to F are playing football. A and E are brothers. F is sister of E. Cis only son of A’s uncle. B
and D are the daughters of the brother of C’s father.

WS Wer 87— 90 % forw g
e ao0 AY Fyzala @d W 8| AR EWR 2| F,E® 987 28| A® 3ida & g wh 321C 2|
BT D,C# far & g &1 afewi &1

qmsm 87 — 90 &t wrEadt
STV AT FEcamus 3006 AvB Eseds| FES 321 A® vias v faee feqyza C31 B
w3 D, C 2 figr @ gar &t dhoif 7%

87. HowisCrelatedtoF?

(A) Cousin (B) Brother (C) Son (D) Uncle

C,F& #§ weftg & ?

(A) FRA B) =ré (€) 97 (D) i

C,F &3 for Adfiz ¥ 7

(A) afis (B) T (©) uysw (D) wiow
88. How many male players are there ?

(A) One (B) Two (C) Three (D) Four

78l fga qaw Reemst & 7

(A) T B) @ (€) = (D) 9%

fed {3 voe fuzat a5 7

(A) fe ®) ¥ | ©) fds (D) ¥
89. How many female players are there ?

(A) Two (B) Three (C) Four (D) One

ggl faat Afeen fawsy € 7

(A) = B) €7 (C) =X (D) s

e fa3d wiger fiuzrdt o5 7

(A) ¥ ®) 35 (C) ¥@ (D) f&'x
90. HowisDrelatedto A?

(A) Uncle (B) Sister (C) Niece (D) Cousin

D,A¥® & Haftrg 2 ? '

(A) s (B) W& (C) wisf (D) FfrT

D, A7 fa? Adftz ¥ ? :

(A) nie® (B) 8= (C) =t (D) afws
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ENGLISH LANGUAGE (Q. 91 to 120)
Choose the option which is closest in meaning to the given words (Q. 91—95):

91. Blasphemy:

(A) Piety (B) Religious (©)
92. Demeanor:

(A) Unreal (B) Appearance - (©
93. Tangible:

(A) Unreal (B) Mysterious (C)
94. Ecstatic:

(A) Unhappy (B) Overjoyed (©)
95. Humane: |

(A) Happy (B) Confident ©

Complete the following Proverbs (Q. 96—100) :
96. A bird in the hand isworth ;

(A) threeinabush (B) fourinabush (©)
97. Adrowningmanwill :

(A) Clutch ata boat (B) Clutch at a straw ©)
98. Alittleknowledgeis:

(A) Abadthing (B) Adangerousthing (C)
99. Asyousow :

(A) Soshall youreap (B) Youwillsee (©)
100. Do not count your chickens :

(A) Beforethey are born B)

(C) Atonce (D)

Give one word for the following expressions (Q. 101—103) :
101, One who leams a subject as a hobby is called :
(A) Artist (B) Professional ©)

DOX-2510-D 3l
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Impiety D)
Behavior D)
Invisible D)
Miserable (D)

Kind-hearted D)

fiveinabush D)
Lose hope D)
A foolish thing (5))
You will gain D)
Before they are hatched
On seeing them

Amateur D)

Sacred

Touchable

Worried

two in the bush

Try to remain afloat

Hard to gain

You will lose



102. A Person obsessed and overconcerned about his health is called :

(A) Neurotic (B) Worried (C)
103. The life of a person written by somebody is called :

(A) Autobiography (B) Story ©)
Choose the correct option to fill in the blank (Q. 104—107) :

104. He has been absent Monday.

(A) for (B) from ©)
105. The new term begins _the ninth of July.

(A) in (B) from ©
106. This isa comfortable house to live

(A) on (B) at ©)
107. I have not been to the theatre along time.

(A) since (B) for (C)
Choose the correctly punctuated sentence (Q. 108—110) :
108.

(A) Ohthatisa Gorgeous ! New dress. (B)

(C) Ohthat!lIsagorgeous new dress ? (D)
109.

(A) The fox was fast, sneaky and quiet in the forest.

(B) The fox was fast sneaky and quiet in the forest.

(C) The fox was fast, sneaky, and quiet in the forest.

(D) The fox was fast sneaky and quiet, in the desert.
110.

(A) John asked, “Do you want to eat anything” ?

(B) Johnasked that, I wanted to eat anything.

(C) Johnasked if ] want to eat anything.

(D) John asked if I want to eat anything ?
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Hypochondriac (D) Stressed

Biography (D) Narrative
on (D) since
on (D) with
in D) with
from (D) about

Oh that is a gorgeous new Dress !

Oh ! That is a gorgeous, new dress.




Read the paragraph and choose the correct option to answer the questions (111—115) based on your reading :

111.

112,

113.

114.

115.

In the 1960s and 1970s, jeans of all kinds became a rage in university and college campuses and with the hippy
movement — students and young people wore painted jeans, patterned jeans, embroidered jeans....! In many
non-western countries, jeans represented the free, consumerist culture of the West. They were very hard to get in
most other countries. American companies said that they often received letters from people all around the world
requesting them for a pair of jeans. From the 1970s, jeans started to be made available in countries around the
world. Jeans became cheaper and more and more people started wearing them. In the 1980s, jeans finally became
high fashion clothing when famous designers started making many styles of jeans with their own labels on them.
Faded and torn jeans became another popular new trend with young people. The sales of jeans wentup and up !
Jeans are still very popular and are an essential part of everyone’s wardrobe — young and old, They have become
auniversal fashion that is not likely to fade out anytime soon !

The phrase “arage’ is closest in meaning to :
(A) anger (B) firy (C) fashion (D) bad mood

The free Consumerist culture of the west means !

(A) Consumers are free to buy a lot of material goods (B) Getting free material items

(C) Culture of the west is free (D) Consumers geteverything free

Why did American companies receive letters from people ?

(A) People wanted a job in those companies (B) People badly wanted a pair of jeans
(C) People wanted to please them (D) American jeans were better

Jeans are still very popular because :

(A) Theyare inexpensive (B) They are torn and faded

(C) They have become an universal fashion (D) Theyareavailable in various colors

Which of the following is not true in the context of the paragraph ?
(A) Onlyrich people wore jeans

(B) Faded and torn jeans were anew trend

(C) The young generation wore painted and patterned jeans

(D) Jeans will remain in Fashion

Fill in the correct option in the sentences below (Q. 116—120) :

116.

117.

This was essential part of their training.

(A) a (B) the (C) an (D) that
Why was she so worried her purse ? |
(A) of (B) for (C) about (D) on
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118. The beggar was mistaken a pick-pocket.

(A) for B) as . (C) against
119. I sympathize you in your distress.
(A) for (B) with (©) to
120, Thad already warned you him,
(A) of (B) against (€) for
HINDI LANGUAGE

&= (Q. Nos. 121 to 150)
121. Fr=fafaa & & wvan aieT Rar & 2

(A) ¥ B) « ©) @
122, §90 % ¥ 9 YYFS BN arcl Wek I Fwa § -

(A) Ha=TH ®) (C) fadmur
123. SifoErEs 31 8

(A) femm ®) s ©
124, & & foim 3% dan & -

(A) 2 B) 3 (€) 4
125. 691 & Ugar I 9/ AR # FEw &

(A) foar fasom (B) ¥y Rgoy (C) fadm fagmur
126, 57 % fadoem qa @ 9 FEA B 7

(A) g™ B) fador (©) faur fagmm
127. €31 41 491 F1 WG G B ITH 9% F A a0 T FEA 8 -

(A) gH7g SuF B) f sas (€) P
128, 34 & 4T 9 9199 B YL B9 8 ¢

(A) 4 ®B) 6 € 8
129, FuATHew & wf% & fa-a w9 8 ?

(A) =X € B) fawf afer (C) =fwt Hfa
130. gmifq # @fyr &1 -5 =9 8 ?

(A) =ioT wfey (B) @ wfy (C) & wfY
131, 7reiy & 999 # -

(A) TegES ®) FHarw (C) =gl
132. werara & wwE 8 7

(A) FH aeges . (B) F T (C) w=FE YRS
133, Wr=T @7 gaiarEy 2

A) 79 (B) gH (C) srgg
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(D)

D)

)

D)

D)

D)

(D)

D)

D)
D)
(D)
D)

D)

(D).

D)

®)

about

to

foar fagiomr

dig

Tl § H A

et dree
10

T § FIS qel
fent
regqueTE



134, SO 1 wEigEE Tol 2

(A) 3EAHIC (B) STl (©)
135. 93 %1 @A 2

(A) 3R B) 3 (©)
136. Accord & e B

(A) s B) gEEm (©)
137. Bilateral %7 3% @ ;

(A) weme B) favefy (©)
138. Corporation FT 34 & :

(A) wTET B) i (©)
139. Legal Force &1 3% 2 :

(A) Rfa g B) Rftd= (C)

'140_.%33%7%3@#?5‘?[ ........ T8 B |

(A) B ' (B) i (©)
141, 9 ufe R @ g3, ... WA T A =

(A) Y (B) WeREITH! (C)
142, F AfE ... e = |

(A) srdte (B) (©)
143, 901 & q@dl 9 qAT FA AN, FE 8 ¢

(A) qogreHT (B) s ©
144, Frger # a7 78 L 7’ Fw oswef &

(A) e ¥ Y B (B)

(€) 3varE a1 Ff 9E B ¥ ()

45, P Ay g I B
(A) e (B) Jmeh (©)

Prefafe geAl & 2o 98 Resy $ 3mar 9 dm

SRR (D)
LA (D) i
e (D) gHe
it (D) Fwadt
qfafa (D)
fafte srar D) R s
it D)
fdsd ® 7@
A (D) e
e -(D) wEE
B WE T U S #

Sl (D) et

wErey, Afoewar, SurRrl; g snf egelt = egew & o &) AT 5wl A o 6 SR @R
¥ wg 7 gEy #oAeE # P wd @ R @ BX AT e 8, wg-ueh ot Fa 2 w=d $ Rrg gw fiaen &
s FeAlceh M HY, JwST A WhIE, AT A A FO, Tew v w9 ¥ @, § i gl
— %7 g9 ¥ e F 78 T AN | ofeied B 98 §9 GO qEO D 0 FA F )| 370 Dyl 7 Feaw R
BT AR e aftw gud Ro-ala F e ¥ et v O & ade B @ g 8 ) el R #iR
Ay ITFR FT @ B A I T gFAl A & 57 el 1 AU TG g E |

146, T weay oie @81 T 8 7 : |
(A) w0 (B) vl (©)
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147, Ted F1 el @ @ gha & 7

(A) grax aenyeey & ®) - §

(C) ¥rctemd waAt # D) WU & forg 7 w3 A
148, w4 oier T wEe Far g 7

(A) @fRa & & B) Tfea & wH FCA

(C) wry wd F forw wrf FEm (D) wErEr & fog s s
149, foT & "9 a9’ % foq wF wse B

(A) ITEHES © (B) IUEHES (C) TrumE (D) =g
150. “aggzar e & 9l @ - _

(A) FemEEd (B) HiY (€) T=T D) 37

OR
PUNJABI LANGUAGE

Uardt (Q. Nos. 151 to 180)
151. 3 € &8t 3 &dt moww feaet § ot faor Afer 3 2

(A) Tat B) s=H (C) fafamir ®) 3=
152. ‘A faust famn er e 3 2

(A) 7t Bu=x B) feasewa (C) uzgegux D) z=E=A
153. ugate Dt fdhit Gt Jetnit a5 7

(A) dm B) #S (C) fomirgt O 2
154. ‘fafanr @ faaar qu fafonr & sa® fait d wew &€t <ofan 7=, 8r § ot gfidfe 76 7

(A) fawds B) fafan femms (€) aa=x D) HITHA
155. maet 7t & § R fee #7395 @ § & afde o6 ¢
@ = B) wet feimE (C) w9 D) e
156. rovas Urret @@ ©F faodt =39 Aat © 7

(A) a3, N, ferme, fafomr - B) uzste, fafer, o

(C) =azT, qaH, fafanr (D) &te, fafonr, saw, feArE
157. ‘&s W daw fe9 wa, wihnrt, 2fadint w3 ¥t ur foor ot o e faozr mee faRms T 7

(A) ura ®) &5 ©) Haw ®) W
158. & fower Jor af1° = faodt s AFt os Adfz ¥ ¢

(A) »ifsrfos TasHs as (B) forfez ygs TTINE A

(C) forfes T8 TT3HS B (D) AUEs TIIHNG TB
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159. fagar pae g2 feadit 3 9 :
(A) ®H-Far B) @& -famirg (C) v7&-=% (D) fe'er-mRe

160. =g fefar gozr fon 3, =7 fe'g fyoar fifg 9 ¢

(A) y3w feam i B) ymaEwa

(C) ferfim (D) feust fed &t & wdt
161, ‘3t € mEsft fe5 @ wys forer 31 e R foosr mee wig 3 7

(A) = B) wEwt (©) farer (D) dret
162.%6Wf%’*§‘&’q€1&§‘§:

(A) 8n 3 fx fi, o o de g9 B) 8w 3 fawr, fx &5 o de Thr

(©) 8w 3 four, “fx &5 awy g T (D) 8r 3 faur fz a'® aww de F9ar
163. ‘95 93 T2 &t IfFR" T 7 -
W) S dts B) s (€) zur D) frset

164. ‘fo'g v & 393" HU=T = &t w9y I ?
(A) TR &9 395 B) ferew &5 395 (C) »aw & goa (D) -y 395
165. MeTE YT I3 | “TH S vvvrrene. %

(A) &t 53 B) wost g A (C) nigs fsfomr (D) yaA&Er €53
166. 7€' niur fe'e s=-fog & TuT J= & Afet G2 3t fauar Yoo zafann qrer 3 9
A) fe'sst vw S5t B) g7 9 u a ge=
(C) Tt o8 f58* X Hraiimrt D) 22 fe'se e =um
167. wigrst it forost fsth fe'e findt ret 3 7 _ |
S (A) mogt B) Fot (C) =wadt (D) s
168, “ynft” Usredt gmm & ... oy
(A) fout (B) Bu-zH (C) fenmes (D) weEe-g&
169. ‘8g mils fir a5 &t & Gaer 991 T Bt fo'g o muw o 9= &9 -
(A) &z B) gt (C) =9 (D) s=E
170. ‘% 73 femrdinit § Wt ar st 3t wift Bu wge S o fxadt fami = 3 9
(A) ez ®) Fgas (©) TR D) sloerga
171. 337" HEe @R afde T8 AR v |
(A) mEE #F J9 d= W3 »iEw J9 J= ¢ (B) mEE ¥F 49 dF ug nivy £y J=
(C) mue 7z & Bdt 9= w3 »ey & G4t o= (D) & wEeE "7 84t J= & niew €4t d=
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172. ‘&9 Husr Hue ©f 293 fon &t 8t Jer a 7

(A) o U FE @ B) IF T s (C) HIe B D) 7Y T 3T 7= S
173. gnret Qusmar faod fewa fe's @ atet T 2 -

(A) Uz, T, WREUT (B) &9, Tesiist, Mgy

(C) FJaeHUd, USaae, T6T 6 (D) &=t wfow, gfmraus, 78ug
174. ‘Hygs’ mae 9 fagar »i@ige <afznr famr & 2 '

(A) H (B) mH () H D) AH
175. ‘Bararg’ mue foud wEe #F &6 "fen & ?

(A) BF+T9 (B) FF+TF (C) Sa+nag (D) Fewmr+a7g
176.5, 2, 3 af fagr Aer 4 ?

(A) dt gamt (B) A=d (C) wfher gamf (D) ¥ges fenivs
177. fonw fouz Exaibat fET° fanudt Sxait &= grar a7 Hifuz &4 & ?

(A) digar - (B) muw (©) &Ftrdtew (D) wE§-wET=

Uy @ wug '3 wew o€ (yEs 178-180) : ‘
zegs fimie & garE T 5293 7 wigh oddt It @ 3t fimre & Byero o7 T9ar der 31 St €T g
T dt 29 9 uw feu & WY € viar A Ifoz @8 Fe, feuw 7 afo 38 7wl | # 5293 § fimrg &% Hfenr
7T AaET 3 37 aR9s @ g '3 93 AR a9 Al 9| g9 feg dvr @ fa feg wfoRs, e v aw 2
w3 39t 31 finre o B B yFa &0t Jer, oi o 118t i der 3 7 g9 § fearet uEt
178. g ¥ ga=t fAedy ot & Aaer & 7

(A) 3893 (B) &zT3-fumma (C) fumrs D) & #=9z & ,fumg
179. 1% fe'5 ‘03’ mue fxo3 niew fe' zafanr famr & 7

(A) »HF B) v gu'’s (©) ®zEt= (D) fedusr =7
180. 03 fe's a3 mue ‘st at ot o5 7

(A) AW HEE (B) fewiarzwx mEe (C) =9asT FEe D) wo=ar
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